4110 | el NAME: \«’\/\\—-—L—S‘Ot\(

CIRCUIT ANALYSIS Il
A. N. Willson, Jr. February 16, 2012

MID-TERM EXAMINATION

Do all work in this examination packet. There are four questions. Each counts 25 points. Good luck!

1A. (5 points) Find the value of E for which th
two one-ports shown to the right hav.
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1¢.(10 points) Find the Norton’s equivalent circuit for this one-port
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2. (25 points) Write state equations for this circuit.
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3A. (5 points) This circuit is in the sinusoidal steady state. Find the voltage (phasor) Vg (i.e., Vo — Vp).
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a) In this circuit, calculate the complex power supplied by each source.
b) Calculate the total complex power absorbed by the circuit elements. (Hence, verify the part a answer.)
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4. (25 points)
In this circuit, find the complex phasors: (a) Iy, (b)I4, and (c) Ig.
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